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0000(16 #fir):C
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0002

DP 25— #H il i Y/ NEORA (i B

0000(16 #fir)=0
0001(16 #{iz)=0.0
0002(16 #Efir) = 0.00
0003 (16 #Efir)= 0.000
0004(16 #Efir) = 0.0000
0005 (16 #Efir)= 0.00000

000D

FILT HURH ], AR

#5& 20 ~99.9

000F

CUT &3 A MRS EE

0000.(16 #Efir)= A H0PEH]
0001 (16 #Efir)= {EELEFRH]
0002 (16 #Efr)= = BERRH]
0003 (16 #Efir)= = &R

0012

ADDR 4R IEE

#ufE :1~255 &

0013

BAUD LR R

0000(16 3&fir)= 2400
0001(16 3&fir)= 4800
0002(16 3&fir) = 9600
0003(16 #Efir)= 19200

0014

ALFU =5 —4HZ kg

0000(16 #Efir)= REHE
0001(16 #fir)= HI
0002(16 #Efir) =LO

001A

A2FU 55 s sl

0000(16 #Efir)= REHE
0001(16 #fir)= HI
0002(16 #Efir) =LO

0028

EHESR

Bit 0 = SF—4HEHIE

Bit 1 = &5 —4f ¥k




